NEEDS ACADEMY

Newroad, Pokhara-9

Practice Questions

- | ([T A1)
PART-I (GENERAL KNOWLEDGE)

If the smallest district of Nepal is Bhaktapur then which is the district

opposite to the mountain........ ?

a) Chandani b) Mustang c) Dodhara d) Gorkha
Who was the first man to reach the space?

HRALETHT T JIH Ak &l 97 2

a) Nil Armstrong b) Paithagorus

¢) Yuri Gagarin d) Nichalos

When did the first world war take place?

goy faeagg Hied quar o ¢

a) 1981 b) 1939 c) 1945 d) 1914
Where is the Taj mahal located?

THH! Yl dTST HEd Fel Aqiedd & ?

a) Jaipur b) Delhi c) Kerala d) Agra

Who is known as the Nepoleon of India?
ARTHT AUIATT AR FEATg (o= 7

a) Chandra Gupta b) Bikramaditya
¢) Samundra Gupta d) Hars Bardhan

Which country has the biggest and the longest constitution?

10.

11.

12.

13.

farearehr awaT TET T ATHT AT F F9THT Wl G 7
a) Russia b) India c) America

When is the independence day of India celebrated?
ARTH A (€ Hladl HATSS, 7

a) 15 August  b) 26 January c) 15 September
What do we find in teeth and bones?

T T TSI & T 7

a) Calcium b) Cement c) Phosphorus d) Fat
Who was the composer of Nepali National Anthem?

AITAT ST AT =TT BT g
a) Amar Gurung

c) Dr. Bhola Rijal

Which gas helps in burning fire?
AT AT A T JART TR, 7

d) China

b) Pradeep Kumar Rai
d) Suresh Adhikari

a) Hydrogen  b) Nitrogen c) Carbon dioxide  d) Oxygen
What is the capital of Bhutan?

aTeh! ITSTTAT & &l 7

a) Thimpu b) Dhaka c) Delhi d) Kabul

What is the instrument that detects the weapon in the body called?
IERAT &R fau Afdquar oar a@msy T s & qhes 7

a. Detector b. Breathalyzer

c. Metal Detector d. Sphygmomanometer

Which country has the largest number of boundaries with many
countries of the world?

farearT FerTaT Fer 9T fawTT Sfeuer J9T FF A

a. Brazil b. China d. Indonesia

c. Russia

d) 22 December



14. 'Who is the author of the Ramayan? 20. Which layer of atmosphere is said to be fringe region?

THTATH TGF T & 7 FIIATSAR] FA qecdls ATHT g2 qiHwg ?
a) Rabindranath Tagore b) Manu a) Troposphere b) Stratosphere
c) Balmiki d) Parosar d) Mesophere d) Exosphere
15.  Who offered his thumb to his teacher in Mahabharat? 21. Candela is the unitof ....... ?
g7 a) Luminous flux b) Lumious Intensity
a) Ram b) Yaklabya ¢) Manu d) Vedvyas c) Toricelly d) Farady
22. ... helps to drive out harmful germs from the human body?
TT- 11 (@ f=m) AIfEeT sTERETe afeRE fharers o frrepTes; 7
PART-Il (GENERAL SCIENCE) a) RBC b) WBC c) Platelets d) None of these
16. On the basis of freezing and boiling point of water what is the lower 23. When ammonria is burnt with air ... gas is formed.
and upper point in centigrade scale ? ST THIATETS. BT M, ™ E |
o ST 7 T AT AR Afeis e deedl 7w a) Carbon dioxide b) Nitrogen
. c) Oxygen d) Carbon Nonoxide
a) 0°C to 100°C b) 30°C to 40°C 24. ...1is alrso called as Ionosphere.
¢) 95°C to 100°C d) 35°Cto4c S AT W A
17. The value of acceleration due to gravity at earth is.....? 8) Troposphere b) Stratospherec
T T A A 7 c) Atmosphere d) Thermosphere
2) 1.67m/s? b) 9.8m/s2 25. Bases are normally taste ....... and it turns.... litmus paper into ...?
¢) 9.8m/s d) 25mis &TReRT T8 U ... T T AAA faawaars 1
18. A cell converts chemical energy into ...... ? a) Bitter, Red & Blue b) Sweet, Red & Blue
e Tt e afvad T 7 c) Bitter, Blue & Red d) Sour, Red & Blue
a) Mechanical energy b) Electrical energy 26. The e\stimated age of earth irs e years.
c) Heat energy d) Electrochemical energy THATR ATAI AT ... T A A
19.  Which color has longest wavelength? a) 45 billion b) 8 billion
c) 9 billion d) none of the above

FA TR ARG AFTS FeITwaT TGl G, 7
a) Red b) White c) Blue d) Pink



217.

28.

29.

30.

31.

32.

The relation between acceleration due to gravity and weight is ....
FEIHT AT T [EeT FATT T Bl T &, |

a) equal b) directly c) Inversely  d) None of them
In which period dinoceraus was originated?

STEATERB! IIAT R HIAHT AT ?

a) Miocene b) Premiom c¢) Triassic ~ d) Cretaceaus

The instrument used to measure the amount/strength of current at a
point is Known as ...... ?

a7 faaehT AT AT ofadqers 7T a9 & 2 7

a) Multimeter b) Voltmeter

c) Ammeter d) Resistance

At the center of the earth, weight of a body will....

TR H5HT a&qhl AR g7

a) Neutralize b) Increase

c) Decrease d) Remain same

HET- 1 ({THT TTivT)

PART-IIl (GENERAL MATHEMATICS)
The present age of Ram and Shyam are 23 years and 28 years
respectively. In how many years ago their age's product was 336?
TqH T TATHH BTAh! IHY I3 a9 ¥ 5 a9 G | Hiq a9 Gled [qreedh
JHTH! AR 33% faar 7
a)5 b) 6 c)7 d)8
What is the altitude of right angled triangle, whose height is 5v/3 cm
and area be 5v3 cm?®?
AR 5y/3cm TUHT G FASTET SAB 5v/3em? T w9 G AT
IS HieT Bl ?
b) 10v3cm?

a) 5cm c) 10cm d) 15cm

33.

34.

35.

36.

37.

38.

What is the H.C.F. ? (a + b)?, (a°_b?)

"I Hd g 7

a) a(ath) b) a (a—b) c)ab d) (a+b)

The population of Biratnagar was 50,000 two years ago. If the
population at present is 45,125, find the population decrease rate.
feRTeATReT SAEET * a9 qfee ¥0,000 [ R Afed TeX ¥Y 4% B
A STEET 8T H(d gl ?

a) 4.87% b) 7.875 c) 8.78% d) 10%

X and Y can do a work in 24 and 18 days respectively. They started
the work together for 6 days then Y leaves and Z joins with X and Z
finish the remaining work in 4 days. In how many days can Z finish
the whole work if he works alone?

XIY o U HH FHA ¥ ¥ 95 fGqq1 T4 Faa | s & fod aw
I HH UG Y o FH BSS X T Z o el 18 ¥ &7Tar a1 | afg
Z TAST I BT 9 IRT BTH FT e sy

a) 20 b) 25 c) 16 d) 18

The surface area of a metal ball is 5544 sq. cm find its diameter?

T3 Tl ATl TAaehl SR ¥ ¥4y @aR I T THh AT AT
THEE 7

> =~

a) 40cm b) 41cm c) 42cm d) 43cm
What is the value of V4225 ?

V4225 # 9 & g 7

a) 45 b) 55 c) 65 d) 75

A computer was sold by allawing 20% discount and levying 13%
VAT at Rs. 45,200, find MP?

T3 FFIALTH HAHT 0% Fe TR 3% WITE ST Hed &, ¥L00
FAH FAT A AR HA HIq Aqr@Ur faar 7

a) 40,000 b) 50,000 €) 60,000  d) 32,000



39.

40.

41.

42.

43.
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45.

What is the mode of the following data? 5,3,7,5,5,7,3,1

AR TATSHB! R & Bl 2

a) 1 b) 3 c) 10 d)5

If the ratio of two number is 2:5 and their sum is 105, find the
numbers.

Tz F@TH AAIT WY B T ([AAesdl TOHA 0% B 9 Al @I
fepTet 7
a) 40,65

b) 30,75 c) 35,80 d) 45,60
Solve the following @& THe ) 1Vx + 1 =+/2x -7
a) 6 b) 4 c)7 d)8
A segment joining two points of a circle is called ....... of the circle?

T3aT W@ S o FAFR T&IH g5 ATl JISATs SIS TRUD @, TqATS
IAHL..... A |

a) Diameter b) Radius c) Chord d) Centre
The sum of three angles of a triangle is...... degree?

Py forer T Sire e g 7

a) 90° b) 180° c) 360° d) 45°

What are the true factors of 3x°+ 11xy + 6y* ?
3x? + 11xy + 6y’ T GUSEE T F & 7

a) (3x +2y) (x +3y) b) (2x + 3y)

c) (x + 3y) d) None of them

An employee spends 25% of his income on food & rent, 50% of
remaining given to his wife and children and saves Rs. 7,200 at a

bank, what is his income?

T FHANA ATRAT TAGRI W% @ET AT AISHT @ Ty, ATl L0%
AT T IRBRATS TS T 5. 9300 Toq TR AT THAT T, A

IIRT ATRAT Hd §7, 7

a) 24,000  b)18,000  c) 30,000 d) 12,000

46.

47.

48.

49.

50.

PART-IV (LOGICAL REASONING)
If CENTRAL is coded as LARTNEC then code SEMINAR

afs CENTRAL @1 LARTNEC @& &fes 99 SEMINAR @15 &
ET HlRTAT 7
a) RANSEMI b) ARNIMES c) RANIMES d) RAINMES
Who was the Prime Minister of Nepal before the death of Girija

Prasad Koirala?

RIS J&T8 FHISITATeR! TERE AT TaTed! TaaH=T & fa7 ?

a) Marichman Singh b) Lokendra Bahadur chand

c) Surya Bahadur Thapa d) Girija Prasad Koirala

What comes next?

2,13,4,39,8

afg & ASS 7

a) 16 b) 52 c) 24 d) 78

Which of the following objectives is heavier? 50 kg of cotton or 50 kg of
rice

qAFT q5 AEIET W & TGl @ 7 4O F. S HF a1 YO & Sl =THd

a) cotton b) rice

c) both are equal d) None of them

How many triangles are there in the given figure?

o feguar feremr ST Fiqaer fstes g 7

b) 17 b) 13 ¢) 15 d) 12

The End



